Model Question Paper

Periodic Test- 11
Class : VIII
Subject : English

1
Time: 15 Hours Full Marks : 40

Group-A (10 Marks)

L. Read the following passage carefully and answer the following questions that follow: 2 x 5=10
I left on Everest a picture of Guru Nanak. Rawat lefi a picture of Goddess Durga. Phu Dorji
left a relic of the Buddha. Edmund Hillary had buried a cross under a cairn (a heap of rocks
and stones) in the snow. These are not symbols of conquest but of reverence.

Choose the correct options :

(@) Whose picture did the narrator leave on Everest? (Guru Gobinda/ Guru Nanak)
(b) Whatdid Rawat leave on everest? (Picture of Durga / Picture of Kali)

(¢) Wholeftarelic of Buddha on Everest? (Phu Dorji/ Rawat)

(d) What is the meaning of 'cairn'? (a heap of rocks and stones/ A pile of book)

(e) These are not symbols of but of . (Fill in the blanks)

Group-B (15 Marks)
2.  Answer the following questions in one or two words : 1x3=3
(a) Whois the writer of the prose "The Summit Within'?
(b) Whom did the writer meet in Cambridge?
(c) Name the bird which sings with the child in the early morming.

3. Fillin the blanks with the correct options : 1x3=3
(a) Thedistant winds his horn.
(1) hunter (i) huntsman (iii) hunted
(b) Major H.P.S. Ahluwalia was a member of the first successful Indian expedition to in
1965.
(i) Karakoram (i) Mount Abu (iif) Mount Everest
(c) was my metaphor for England.
(1) Cambridge (ii) Oxford (iii) Howard
4. Answer the following questions within twenty words :- 2x2=4

(a) What are the three qualities that played a major role in the author's climb?
(b) Did the prospect of meeting Stephen Hawking make the writer nervous? If so, why?
5. Answer the following questions as per the directions :- 1 x5=5
(@) Whatalovely picture ! (Exclamatory sentence/Imperative sentence/Interrogative sentence)
(b) Rajib works very hard. (Find the Finite verb)
(¢) Icalled Ashvik. (Find out the Object)
(d) Someone is knocking the door. (Fill up the gap with correct preposition)
(¢) Arjun could save Karna. (Find the Modal Auxiliary verb)



Group- C (15 Marks)

Answer the following questions in thirty to forty words :- 2 x2 =4

(2) Why did penny Baxter allowJ ody to go and find the fawn and also raise it?

(b) Why did the narrator of the story Jalebi ' not take the coins' advice? Give two reasons.

Answer the following question in about 60 words : 1x3 =3

Explain in your own words how the two adversaries turn into good friends in a matter of minutes as

can found out in the story 'The Fight'.

Do as directed :- 1x3=3

(a) Arunisplaying football. (Find out the verb/verbs and write whether Transitive verb or
Intransitive Verb)

(b) One of the oranges (is/are) rotten.

(c) Youneedtohelpher. (F ind the Modal Auxiliary' verb)

Write a paragraph on 'The Value of Time Management'. 5
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SEIHATD ST 3R 2H9ITEIE Seq 718 ¢ (Read the passage and answer the following questions) :

et TR SR I 9/12/2006 SR TR (oites | ff smit<aie w3 2R (e
360 km MG (5102 | ol TRMTH 23 MRS (@4 7 Hibees |

Sunita Williams went to space in spaceship on 9/12/2006. She went 360 km away from the earth in
the spaceship. She has spent more than Six month in space.

() >R 2F<FE! (Fill in the blanks) 1063 =3
(a) ol SRR TRISFRCA R (ol
Sunita Williams wentto  inspaceship.
by B eRe G AT AN G FHER |
Shehasspentmorethan  month in space.
() st km vw0g Gitad |
She went km away from the earth.
(i) (3<% &b IRB IR (Choose the correct answer) Ix2=6
(a) Aol SRR SR (SRA—
(i) SUIRICAE (i) TP FCI (i) GEIER
Sunita williams went to space in
(i) Aeroplane (ii) Spaceship (i) Train
(b) (I AT Aot TR TR (ol ?
(1) 1996 (ii) 2007 (1)) 2006
In which year, Sunita Williams went to space?
(i) 1996 (i) 2007 (iii) 2006
(c) VATl TERN NRHTY SRR —
() SIS (PN (i) TNERE @A (i) 7 T=IRE &9 IR—

Sunita Williams has spent in space-

(1) More than 6 year (ii) More than 6 month (ii1) More than 10 year
(Group-B) (15 Marks)
A T&alb 1 ([T ! (Choose the correct option) : 1x4=4

(a) TTRMEA @ @FRL OF WFO ADITS A2
() IRl (i) oTsIHA  (ji) IR (iii) CoR T



Which cell in human can change its shape :

(i) RBC (ii) WBC (iii) Nerve cell (iii) Muscle cell
(b) TS CFG TN SICAF F=ACERT A ¢

(i) 20-10,000 Hz (i) 10-10,000Hz (i) 20-20,000 Hz (i) 7<<sa{

The range of audible frequency for human is roughly :

(1) 20-10,000 Hz (i) 10-10,000Hz  (iii) 20-20,000 Hz  (iii) All of the above
(c) AT @I I Rige wAfa1Rre

(i) FAF (i) 2= (i) s (i) SoegfsfRETs

Which one of the following material can conduct electricity?

(i) Rubber (ii) Plastic (iii) Wood (iii) Aluminium
(d) FPARI P& 0eT—
() oTCEF (ii) WF-TRIM &2 @ (2 |
(iii) (i) 98 (i) TSR (iii) PILE |
The function of Nerve cell is-
(i) To protect the body (ii) To receive and transfer message
(iii) Both (i) and (ii) (iii) None of the above
'I 3. feoaeeEa e wie (Anawer the following questions) ¢ 2x4=8

(a) 20,000 Hz (AT (@ TR *3 ¥[ATS AT G5 G50 1= = 7ot |
Whrite the name of an animal which can hear sounds of frequencies highes than 20,000 Hz
(b) (I 49 TR L A I A @ TRZCET 20T O (oA 1 =22
Which metal is used for electroplating the kitchen gas burner as bicycle hand bars?

() ik (e At Temifein o Sl HOERPRS I (ARifEs G TG 5 ARy @l |
State two difference between eukaryotes and prokaryotes.

d) M TER IFA G 150 G I |
“Cells are the basic structural vints of living Organisms” Explain

4. TR emeETa Tea e (Anawer the following questions) ¢ 3x1=3
R o 5 ofe ARRIR | TR A 28 o SIS #IRAIR T & SR < Al

Does pure water conduct eleciricity? If not, what can we do to make it Conducting
t/or
37 7 NIRRT T It S |

Explain in what way noise pollution is harmful to human.
Group- C (15 Marks)
5. i/ GEENGE AGF 2R ETTGeaRe (Answer the following questions with “Yes’or ‘No”):1 x3=3
(a) GRWMET G e 20 =) 92— (/) '

The basic unit of living organism is an organ- (Yes/No)



(b) w2t et e <o 1 (/)
Oviparous animals give birth to young one. (Yes/No)
(© T 5 e BT et Ay (/=)
Sound cannot trave] in Vaccum- (Yes/N 0)
Bl AT e e (Answer the following questions) (SA-D)s
6 (@) ORI & s oy

Write the name of the process of reproduction in Amoeba?

2x2=4

(b) wﬁmﬁ%@ﬁﬁwﬁﬁ%{wmw 90%@@%’@@@@@% I T Fw 9

What is the angle of incidence of 3 ray if the reflected ray is at an angle 0£ 901, the incident ray?

Differentiate between internal fertilisation and external fertilisation,
8. Wﬁﬁw@@?m (Answer the following question)
R EER SSaEREES RPN IS (O fevery wraity <1t s |

Sketch Larynx and explain its function in your own words
A/ or
(i) s P e

What is frequency?
(i) 90 @7 4 FiTS 405 crreTey S1ovpey 3z | IS CRISTIPIRT @ wositess Fovefy o |

A pendulum socillates 40 times in 4 seconds, F ind its ‘time period® and ‘frequency’.

1%3=3

1x3=5
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kispTﬁDﬁ}:lé-Homs
Group-A (10 Marks)
2x3=6

=759 ZEAFIE SER RN (Answer the following questions) :

S (Divide)
TR (Example) : 144 + 12

Tex (Answer) : 12

[

2% (Question) : 169 + 13
#3% FRYT@IE 749 S0t (Fill in the box with appropriate number)

- =
I=o

7%= (Example):  12+15+10 =10+ 15+

Ted (Answer) : 12
24 (Question) : 35+46+70=46+
=G (A @ e (THS) (Arrange in ascending order)

+70

. 2 8§ 5
enizg9 (Example) : 10°10°T0
&3 (Answer) : —,i'—g—
10 10 10
- A

2% (Question) : 3°8°3
fA{Re boeeita IREIR I @0l (Write the names of sides of the quadrilateral): 4 x 1=4
B

.
Trige (Example) : o
D €
g (Sides) : (i) (i) (iif) (iv)
®ea (Answer) : () AB (i) BC (i) CD (iv) AD
2% (Question) : (i) (i) (iif) (iv)
K B
N G




Group-B (15 Marks)

T 2o Be w8 (Answer the following questions) : Leay—5
5. RIS 7794t (Fill in the blank)
- 5x Ao Rel = |

The coefficient of - 5x is .
6. ey [ WY1 2 7 - dxy + 3x G IgW AT |
Write true or false :
Theterm 7-4xy+3x is apolynomial.
7. e e ea e 3x x 2xy? x xz
Find the product : 3x x 2Xy* x Xz
8. 2T qig RS e Siwed Fo 2
What is the volume of a cube with a edge 2m ?
9.  hei el s r G PRIE RES (Gived IoreE Faga |

If h cm is the height, r cm is the radius, of a cylinder then the area of curved surface is

TES et Tea e (Answer the following questions) : 2x2=4
10. 7 cm

4 cm

H

12 cm

Boitzw foa (te TiRFmic oot e st
Find the area of trapezium from the given figure.
11. @A4<d . ab+be,bec+ca, catab
Add them : ab+bc, bc +ca, ca+ab
AT AT SSI WIS (Answer the following questions) : I 2 =6
12. REFEe 3x@x-5+3 79 (()x=3 (i) x=1
Simplify : 3x(4x-5)+3 When, (i))x=3 (i) x=1
13. TR 40T G 7.5 G =R 12 Gif 206t T09 GRS 39 7
Two diagonals of a rhombus are 7.5 cm and 12 em. Find the area of the thombus.

Group-C (15 Marks)
o e e e (Answer the following questions) : Iw F=4
14, wrew 929 I (b - 7) 9F 39 T It |
Using suitable identity find the square of (b-7).



15. SE&AEEF ﬁﬂia Gl
Write down Eular’s formula.
16. w=ffr<sEt (Find the value) : 3

| PR PR
P+ + (=
) (3) e
B 2Ps]TeNE TR w8 (Answer the following questions) : 4x2=8

17. #RA7S75.97 x10% kg @& BITHA ©F 7.35 x102 kg TeT, ©ITHT (6 O 9 ?

The mass of the earth is 5.97 x10% kg and the mass of the moon is 7.35 x10*kg. Find their total

mass?

18. b Teirat &lfsft Jigr fasjel T=0et, oo Food AT ?

If each edge of a cube is doubled how many times will it’s volume increase?




Model Questions Paper
Periodic Test- IT
ifet (Class) : 55w (VIID)
o= (Subject) : e et (sST)
5 (Time) : 1% Hours GG 7% (Full Marks) : 40
3-fq®i5l (Group-A) (10 Marks)
L S St SiE & AT R TS epsis|tera Sea e ¢ (Read the passage carefully

and answer the following questions) :

SR oL SRR w2 3w 2 Sfigg Tml TR IR ©F (NS Seite 1 ol
PIRIPIR TR I AU | SRS @I TR b St ST S |

The term “adivasi’ literally means © original inhabitant’. They are communities which lived and continue
to live in close association with forest. Around 8 percent of India’s population is Adivasi.

() U= 7{5 S0 (Fill in the blanks) s 2x3=6
@ wrFEe e st wdaps (eiet/ R/ eReg)
The tern “adivasi’ literally means original . (subject/foreigner/in habitant)
@ SR R e A GG e G
The adivasi lives in close association with __ .(forests/city/water)
(i) SIECST GG TPRYE _ wtel iR emeid | (¢/v/ o)
Around__ percent of India’s population is adivasi. (5/8/10)
(%) 31ej/M2t @Rt (Mark True/False against each statement) ¢ 2x2=4
@) oI~ T
Tea is a beverage crop.
(@) = Reaeiaw ey e 248! s |

Swami Vivekananda founded The Ramkrishna Mission.
4-fr®19 (Group-B) (15 Marks)

2. 3% & AMeR 3@ (Choose the correct answer) ¢ (3 el € (Any 5) 1x5=35
@) ! T St e —
(@) v (b) 1= (c) o=
Anexample of plantation crop is -
(@) coffce (b) paddy (c) wheat
@) =4z 2 e Teotivr o —
(a) ©IFe (b) foxt (c) =ifem
The largest coffce produces of the world is -
(a) India (b) China (c) Brazil




3.

(i) s g =g =—

(a) S»o& AT (b) S538 AT (c) S»>d A
The first World War broke out in-
(a) 1905 (b) 1914 (c) 1919

(iv) 7S & *Windows Home® &fo91 7 —
(a) et T (b) Seeeom bt (c) el SCNIRE S
“Widow’s Home’ at Poona was founded by-
(a) PanditaRamabai  (b) Ishwar Chandra Vidyasagar (c) RajaRammohan Roy
) ﬂ{mmwwwwwmaaaWmem—

(@ so ®) 3% © se
Aboy and women of which age cannot be called to the police station only for questioning?
(@ 10 (b) 12 (&) 15
(i) T REPR @ SR caid Z T —
(a) faofd (b) (c) COCTY
Anindigenous group living in Tripura is-
(a) Tripuri (b) Sikh (c) Telegu
e Sea e (Answer in brief) 8 2x5=10
0 IS H QA
What is meant by agriculture?

(i) ARG P IS A2
What is meant by shifting cultivation?
(i) ©ICe 7 ETR T SR 7 ETl
Name two iron and steal plants in India.
(v) TN R e 7 2T I @
Name two books written by Swami Vivekananda.
(v) FLR 00 @R?
What do you mean by F1.R?
a-Retal (Group-C) (15 Marks)
Wi e eeeTea Gt M8 (Answer in few words) 2 & @ 86 (Any four) 1x4=4
@) ¥ S @I o7 RIS 22 TR SREE FA?
Which country is the largest producer of rice in the world?
(i) Coie] R Stigfeee PATers GRS <@l =2
Which industry is often referred to as the backbone of modern industry?
i) @ e e oo ¢ g7 e (5351 T 2 O P A2
What is the art form which observed carefully and tried to capture exactly what the eye saw called?



(v) i fAeeen = > =T TEA?

Who was the foumder of Shanti Niketan?
) SR R 25 T 9 By WIR?
_#+he Indain Constitution?
AR e T QGO ?

WhatisArticle 1700
) @ IEE ETEE =5 TO N TGOS AT
~urs must an arrested person be presented before am:

Within how many ho
=1 briefly) ¢ (@ (T 3% (Any two)

agistrate?
Ix2=6

5. KRR Teg e (Answ
@ el <= S @R
What is an industrial region?

(if) = 9%%?;??@@?@%%%& (@ FACOA 2
Why did Mzahatma Gandhi want to teach children handicrafts?

(i) IO S o A
Who are referred to as the adivasis?
6. Tz e e (Answer the following) 8
(@) P RAT SRS e AT ST |

What are the factors affecting the location of industris?

5x1=5

or

R g U ?
Whatis the role of a Judge in Criminal Justice System?



